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Solve one of the following word problems by any method, and be sure to write an
equation to represent the problem.

17)  The perimeter of a triangular flower bed is 87 feet. One side is seven feet longer
R than the shortest side, and another side is two times as long as the shortest side.
g Find the lengths of the three sides.
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18)  To determine the number of trout in a lake, a naturalist catches 112 trout, tags
them, and throws them back. Later she catches 82 trout, and 32 of them have

a tags. Show how to use this information to estimate the number of fish in the
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